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ACCT 5341 Examination 3 Answers
Dr. Jensen

Spring 1999

Questions 1-8 are worth seven points each.

Remaining questions are worth three points each.

Students are allowed to use the following examination aids:

· Calculator

· Notes that you have written yourself

· Homework assignments written by yourself or with your assigned partner

Students are not allowed to use:

· Photocopies of material not written by themselves or assigned partners

· Books

· Notes or any other materials written by other students other than  printouts that were joint efforts between you and a partner.

Part 1 (Multiple Choice)

· Choose the best answer to each question when more than one answer is correct.

· Answers are to be recorded both on the question sheet and on the answer sheet.

· The term “earnings” does not include “comprehensive earnings.”
Part 1 Questions on Managing Financial Risk

Begin Exhibit 1

Exhibit 1
EURODOLLAR OPTIONS AND FUTURES:

IMM, JULY 21, 1992, LIBOR =3.30%

OPTION CONTRACTS
EURODOLLAR (IMM)--$ MILLION; PTS. OF 100%

Strike
Price

Sep
Calls--Settle
Dec

Mar

Sep
Puts--Settle
Dec

Mar


9600

0.54

0.28

0.35

0.01

0.21

0.32


9625

0.30

0.16

0.23

0.02

0.34

0.45


9650

0.11

0.08

0.14

0.08

0.51

…..


9675

0.03

0.03

0.08

0.25

…..0.65

0.79


9700

0.01

…...

…...

0.48

…..0.73

…..0.95


9725

…..

…..

…..

…..

…..0.84

…..1.05


9750

…..

…...

…...

…...

…..

…..


Est. vol. 27,290:


Mon vol. 26,866 calls; 15,052 puts


Op. Int. Mon 370,969 calls; 411,698 puts

Assume the following ex post option spot rates and premiums on an option with a 9625 (or 3.75%) strike price: 

LIBOR is a 3.30% APR on July 21 

with a premium of 0.34% for a December put option

LIBOR is a 3.50% APR on October 31 
with a premium of 0.45% for a December put option

LIBOR is a 4.35% APR on November 30 
with a premium of 0.65% for a December put option

LIBOR is a 4.50% APR on December 14. 

LIBOR is a 3.30% APR on July 21 

with a premium of 0.16% for a December call option

LIBOR is a 3.50% APR on October 31 
with a premium of 0.10% for a December call option

LIBOR is a 4.35% APR on November 30 
with a premium of 0.01% for a December call option

LIBOR is a 4.50% APR on December 14. 


End Exhibit 1


The first few questions below refer to Exhibit 1.  Be careful of the way Exhibit 1 uses annualized (APR) rates.  The LIBOR and strike prices are based upon annual APRs.  The premiums are also annualized rates.  Thus the LIBOR on July 21 is a 3.30% APR corresponding to a 9670 spot rate.  The strike price corresponding to 9625 basis points strike price is a 3.75% strike rate.  Assume the cap is perfectly effective under SFAS 133 rules.
1. (7 Points) Suppose that on July 21, the Capit Company elects to cap a $10 million forecasted variable rate borrowing on December 14.  It elects to put a cap on the variable rate by purchasing December options having a strike price of 9625 in Exhibit 1 above.  How much does the option cost on July 21 assuming Capit Company must purchase 10 option contracts to cover the entire loan?

a. $3,300 
b. $4,000
c. $7,500
d. $8,500 XXXXX [(0.34)($2500)(10 contracts)]
e. None of the above

2. (7 Points) What portions of the 0.34% premium rate for July 21 put rate in Exhibit 1 are intrinsic value rates versus time value rates?  Assume that on July 21 the LIBOR is 3.30% corresponding to 9670 basis points.  Assume the strike price is 3.75% corresponding to 9625 basis points.  

a.  +0.00% is the intrinsic value rate and 0.34% is the time value rate
b. -0.11% is the intrinsic value rate and 0.45% is the time value rate
c.  +0.34% is the intrinsic value rate and 0.00% is the time value rate 
d. -0.45% is the intrinsic value rate and 0.79% is the time value rate  XXXXX 
              [3.30%spot - 3.75%strike = -0.45% negative intrinsic value portion of 0.34% total value]
              [(-.45% intrinsic value rate)($2500)(10 contracts) = $11,250]
              [(0.34% value rate) – (-0.45% intrinsic rate)($2500)(10 contracts) = $19,750 time value]
              [(-$11.250 intrinsic value) + $19,750 time value = $8,500 total value]
e. None of the above

3. (7 Points) What is the cap on the APR interest rate using Exhibit 1 data for the cap described in Question 1?  Assume the cap includes the premium rate for a December option in Exhibit 1.

a. 3.91% APR
b. 4.00% APR
c. 4.09% APR XXXXX [3.75% strike rate + 0.34 premium]
d. 3.75% APR
e. None of the above

4. (7 Points) Using Exhibit 1 data, what is the balance sheet asset or liability for Interest Rate Options (ORO) current value reported on October 31 for the ten options purchased on July 21 in Question 1?  Assume the ten options qualify as a cash flow interest rate cap hedge of the forecasted loan transaction's interest rate.

Hint:  You may want to look up your File 2 Notes for SFAS Example 9.

a. ($6,250) credit balance as a liability 
b. $11,250 debit balance as an asset XXXXX [(.45%premium)($2500)(10contracts) = $11,250]
c. $16,250 debit balance as an asset
d. $5,000 debit balance as an asset
e.  None of the above

5. (7 Points) Using Exhibit 1 data, what is the balance sheet amount reported in other comprehensive income (OCI) on October 31 for the ten options purchased on July 21 in Question 1?  Assume the ten options qualify as a cash flow interest rate cap hedge of the forecasted loan transaction's interest rate.

Hint:  You may want to look up your File 2 Notes for SFAS Example 9.

a. $6,250 debit balance in OCI  XXXXX 
       [(10000-9650spot)/100= 3.50% LIBOR on October 31 with a premium of 0.45% in Exhibit 1]  
       [0.45% value on 10/31 - 0.34% value on 7/21)($2500)(10contracts)  = $2,750 gain]
       [3.50% LIBOR - 3.75% strike = -0.25% negative intrinsic value portion of 0.45% value on October 31]
       [(-0.25% intrinsic value)($2,500)(10 contracts) = $6,250 debit balance in OCI on 10/31
       [0.45% value rate – (-0.25% intrinsic rate) = 0.70% time value portion of 0.45% value rate on 10/31]
       [(0.70% time rate)($2500)(10 contracts) = $17,500 time value on 10/31
       [(-$6,250 intrinsic value) + $17,500 time value = $11,250 total value on 10/31 for 0.45% premium
       [-$6,250 intrinsic value on 10/31 –(-$11,250 intrinsic value on 7/21) = $5,000 gain in intrinsic value
       [$17,500 time value on 10/31 –($19,750 time value on 7/21) = -$2,250 loss in time value 
       [$5,000 gain in intrinsic value - $2,250 loss in time value = $2,750 gain = $11,250value - $8,500cost]
b. ($11,250) credit balance in OCI
c. $11,250 debit balance in OCI
d. $5,000 debit balance in OCI
e. None of the above

6. (7 Points) Using Exhibit 1 data, what is the balance sheet asset or liability current value reported on November 30 for the ten options purchased on July 21 in Question 1? 

Hint:  You may want to look up your File 2 Notes for SFAS Example 9.

a. ($16,250) credit balance as a liability 
b. $16,250 debit balance as an asset XXXXX [(.65%premium)($2500)(10contracts) = $16,250]
c. $1,750 debit balance as an asset
d. $8,500 debit balance as an asset
e.  None of the above

7. (7 Points) Using Exhibit 1 data, what is the balance sheet amount reported in other comprehensive income (OCI) on November 30 for the ten options purchased on July 21 in Question 1?  Assume the ten options qualify as a cash flow interest rate cap hedge of the forecasted loan transaction's interest rate.

Hint:  You may want to look up your File 2 Notes for SFAS Example 9.

a. ($15,000) credit balance in OCI  XXXXX 
    [(10000-9565spot)/100= 4.35% LIBOR on October 31 with a premium of 0.65% in Exhibit 1]  
    [0.65% value on 11/30 - 0.34% value on 7/21)($2500)(10contracts)  = $7,750 gain]
    [4.35% LIBOR - 3.75% strike = 0.60% positive intrinsic value portion of 0.65% value on November 30]
    [(0.60% intrinsic value)($2,500)(10 contracts) = $15,000 credit balance in OCI on 11/30
    [0.65% value rate – 0.60% intrinsic rate = 0.05% time value portion of 0.65% value rate on 11/30]
    [(0.05% time rate)($2500)(10 contracts) = $1,250 time value on 11/30
    [($15,000 intrinsic value) + $1,250 time value = $16,250 total value on 11/30 on the 0.65% premium
    [$15,000 intrinsic value on 11/30 –(-$11,250 intrinsic value on 7/21) = $26,250 gain in intrinsic value
    [$1,250 time value on 11/30 –($19,750 time value on 7/21) = -$18,500 loss in time value 
    [$26,250 gain in intrinsic value - $18,500 loss in time value = $7,750 gain = $11,250value - $8,500cost]
b. $16,250 debit balance in OCI
c. ($16,250) credit balance in OCI
d. ($26,250) credit balance in OCI
e. None of the above

8. (7 Points) How much are the 10 options in Question 1 settled for in cash (to Capit Company) on December 14 using the Exhibit 1 data?  Use the APR rate assumption and do not convert to quarterly rates.

a. +$26,260
b. +$18,750  XXXXX 
          [(9625 strike - 9550 spot)($25)(10 contracts) = $18,750]
          [4.50% LIBOR - 3.75% strike)($2500)(10 contracts) = $18,750]
c. +$150,000
d. $0
e. None of the above

End of questions based upon Exhibit 1

All Remaining Questions are worth three points each.

9. If a company uses a forward contract to fully hedge a required payment of yen in ninety days:
a. changes in the dollar price of yen will have no effect on the net (hedged) dollar
    value of the yen payment. XXXXX
b. the net dollar value of the payment will fall if the yen depreciates.
c. the net dollar value of the payment will rise if the yen depreciates.
d. the net dollar value of the payment will change by less than the change in the dollar
    price of yen.

10. A risk management product which is similar to a cylinder is:
a. a free range call.
b. a range-forward contract. XXXXX
c. a written swap.
d. a range-backward contract.

11. A corporate treasurer could set a cap and a floor on the interest rate for a future loan by:
a. buying an interest-rate put option and then writing an interest-rate call option.
    XXXXX
b. writing an interest-rate put option and then buying an interest-rate call option.
c. buying an interest-rate call option and then writing an interest-rate put option.
d. writing an interest-rate call option and then buying an interest-rate call option.

12. A bank could set a cap and a floor on its funding cost (cost of bank deposits) by:
a. buying an interest-rate put option and then writing an interest-rate call option.
    XXXXX
b. writing an interest-rate put option and then buying an interest-rate call option.
c. buying an interest-rate call option and then writing an interest-rate put option.
d. writing an interest-rate call option and then buying an interest-rate call option.

13. A bank could set a cap and a floor on the interest rate it receives from a commercial loan by:
a. buying an interest-rate put option and then writing an interest-rate call option.
b. writing an interest-rate put option and then buying an interest-rate call option.
c. buying an interest-rate call option and then writing an interest-rate put option.
    XXXXX
d. writing an interest-rate call option and then buying an interest-rate call option.

14. A corporate treasurer could convert a floating-rate loan to a synthetic fixed-rate loan by:
a. buying interest rate futures.
b. selling interest rate futures. XXXXX
c. writing interest-rate call options.
d. writing interest-rate put options.

15. If interest rates are expected to rise:
a. the December 1994 three-month Eurodollar futures contract will sell for more than
    the June 1994 three-month Eurdollar futures contract.
b. the December 1994 three-month Eurodollar futures contract will sell for less than
    the June 1994 three-month Eurodollar futures contract. XXXXX
c. the December 1994 three-month Eurodollar futures contract will sell for the same
    price as the June 1994 three-month Eurodollar futures contract.
d. the yield on the December 1994 futures contract will be less than the yield on the
    June 1994 futures contract.

16. A synthetic loan constructed with interest-rate options:
a. will be less expensive than one constructed with FRAs.
b. will be less expensive than one constructed with interest-rate futures contracts.
c. will be more expensive than one constructed with interest-rate futures contracts. 
    XXXXX
d. will be the same price as one constructed with interest-rate futures contracts.

17. The cost of setting an interest rate cap on borrowing costs can be:
a. reduced by writing interest-rate put options.
b. reduced by writing interest-rate call options. XXXXX
c. reduced by buying interest-rate call options.
d. reduced by buying foreign-currency options.

18. Circus swaps are:
a. basis swaps.
b. puttable swaps.
c. cap swaps.
d. combined interest rate and currency swaps. XXXXX

19. A major advantage of options over futures contracts for hedging purposes is:
a. options are cheaper.
b. options need not be exercised. XXXXX
c. options are more liquid.
d. options are not legally enforceable obligations.

20. In efficient financial markets, the expected cost of hedging with options:
a. is the same as hedging with futures.
b. is the same as hedging with forward contracts.
c. is less than hedging with forward and futures contracts.
d. is more than hedging with forward and futures contracts. XXXXX

21. An expected receipt of German marks by an American exporter can be hedged best by:
a. buying DM call options.
b. buying DM put options. XXXXX
c. selling DM put options.
d. buying European DM call options.

22. Using foreign-currency futures options instead of underlying foreign-currency futures contracts:
a. is a way to eliminate the basis risk associated with futures contracts.
b. is a less expensive way of hedging than with futures contracts.
c. is a less expensive way of hedging than with forward contracts.
d. still leaves the hedger exposed to basis risk. XXXXX

23. The writers of currency call options:
a. are legally obligated to sell the currency at the strike price if requested by the 
    option holder. XXXXX
b. can refuse to sell the currency to the option holder if the strike price is below the
    current spot price.
c. can refuse to sell the currency to the option holder if the strike price is above the
    current spot price.
d. receive no payment for writing the options.

24. To set a cap on the interest rate that a company must pay for a future loan, the treasurer can:
a. buy interest-rate call options.
b. buy interest-rate put options. XXXXX
c. write interest-rate put options.
d. write interest-rate put options.

25. The interest-rate cap that a corporate treasurer can set on a future loan is equal to the rate implied by the strike price of an interest-rate:
a. put option plus the option premium. XXXXX
b. put option less the option premium.
c. call option plus the option premium.
d. call option less the option premium.

26. The value of an interest-rate call option will increase if:
a. interest rates fall. XXXXX
b. interest rates rise.
c. the maturity of the option is shortened.
d. interest rates become less volatile.

27. The process of marking futures contracts to market has the effect of:
a. turning the futures contract into an option contract.
b. turning the futures contract into a one-day forward contract. XXXXX
c. understandardizing the contracts delivery date.
d. making the futures contract a less expensive form of hedging than the forward
    contract.

28. A person wanting to lock in an exchange rate for the payment of a foreign-currency obligation to someone else would:
a. sell a foreign-currency futures contract.
b. buy a foreign-currency futures contract. XXXXX
c. sell an interest-rate futures contract.
d. buy an interest-rate futures contract.

29. Part 2 Questions on Accounting for Derivatives and Hedges

(03 Points)  Company S is a securitization trust that receives an unsecured variable rate of interest on a $10 million note.  The loan is to a large California farm, and the amount of variable interest is indexed to commodity spot prices of rice.  To securitize the note, Company S swaps its variable rate of interest to its investors in return for a fixed rate of interest.  Is this interest rate swap a derivative subject to SFAS 133 rules?

a.  Yes.  The swap has a qualified notional, a qualified underlying, settles in cash, and requires no premium.
[XXXXX Such a derivative is qualified under SFAS 133 Paragraph 252 on Page 134 includes a contract with an underlying that is exchange traded.  See KPMG Example 3 on Page 59.]

b.  No.  The swap has a notional, an underlying, settles in cash, and requires no premium.  However, SFAS 133 explicitly prohibits securitization hedges.

c.  No.  The swap has a notional (the loan principal), settles in cash, and requires no premium.  However, it does not have a qualified underlying for a SFAS 133 derivative instrument.

d.  No.  The swap has an underlying (the loan principal), settles in cash, and requires no premium.  However, it does not have a qualified notional for a SFAS 133 derivative instrument.

30. (03 Points)  ) Company S is a securitization trust that receives an unsecured variable rate of interest on a $10 million note.  The loan is to a large Kansas farm, and the amount of variable interest is indexed to average rainfall across June, July, and August.  To securitize the note, Company S swaps its variable rate of interest to its investors in return for a fixed rate of interest.  Is this interest rate swap a derivative subject to SFAS 133 rules?

a.  Yes.  The swap has a notional (the loan principal), an underlying (the variable interest rate), settles in cash, and requires no premium. 

b.  No.  The swap has a notional (the loan principal), an underlying (the variable interest rate), settles in cash, and requires no premium.  However, SFAS 133 explicitly prohibits securitization swaps.

c.  No.  The swap has a notional (the loan principal), settles in cash, and requires no premium.  However, it does not have a qualified underlying for a SFAS 133 derivative instrument.

d.  None of the above.
[XXXXX  such a derivative is disqualified under SFAS 133 Paragraph 252 on Page 134 which excludes any contract with an underlying that is not exchange traded.  See KPMG Example 16 on Page 64.]
31. (03 Points)   The following contract does not have a SFAS 133 Paragraph 6 notional in a clear sense.  Company C pays $100,000 for an option to receive $2 million if the average LIBOR for the next 12 months exceeds 8%.  Is this option contract subject to SFAS 133 rules?

a.  No.  Paragraph 6a requires a notional amount.

b.  No.  Paragraph 6b requires that there be little or no initial investment.  The $100,000 option premium is larger than “would be required for other types of contracts that would be expected to have a similar response to changes in market factors.”  The reason has nothing to do with the Paragraph 6a notional criterion.

c.  No.  Gambling derivatives such as this are not allowed under SFAS 133.

d.  Yes.  Paragraph 6a requires either a notional or other “payment provisions” under the contract.
[XXXXX see Paragraph 6 on Page 3.  Also see KPMG Page 64.]
32. (03 Points)   The San Antonio Spurs currently have 11 shareholders who privately held their shares for a number of years.  Suppose Texaco purchases a six-month call option for $5 million to purchase 1,000,000 Spurs common shares.  At the same time, Texaco pays another $5 million for a six-month “put” option to trade the 1,000,000 shares for six long-term oil and gas leases on a private ranch in Alberta, Canada.  Do these options fall under accounting rules in SFAS 133 on the Texaco’s general ledger?  In other words, given only the above facts, are the options SFAS 133 derivative financial instruments?

a.  Both the put and the call options are SFAS 133 derivatives.

b.  Only the call option is a SFAS 133 derivative.

c.  Only the put option is a SFAS 133 derivative.

d.  Neither the put nor the call option is a SFAS 133 derivative.
[XXXXX  Paragraphs 10e and 9c of SFAS 133 require that settlement be easily convertible into cash or be an asset that is exchange traded for cash.  Also it is not clear what the notional amount is in these contracts.]
33. (03 Points)   Texaco has a contract to purchase the Brooklyn Bridge anytime within the next year for $50 million.  Is this contract a SFAS 133 derivative financial instrument?

a.  No because the bridge settlement is associated with the underlying and denominated in an amount equal to the notional amount.

b.  No if we assume that Texaco cannot readily convert the Brooklyn Bridge into cash.

c.  Both answers above are correct.
[XXXXX  The firm commitment is not a derivative.  Paragraph 6c Paragraph 9a precludes a denomination equal to the notional amount.  Paragraph 10e and 9c require that the settlement be easily convertible into cash or be an asset that is exchange traded for cash.  Also see KPMG Example 14 Page 65.]

d.  None of the above.

34. (03 Points)   Assume that the “regular way” of settling a forward contract to sell a mortgage-backed security is to settle in 90 days.  Is this forward contract a SFAS 133 derivative instrument?

a.  Yes as long as this is the “regular way.”

b.  No because “regular way” contracts are not subject to SFAS 133 rules.
[XXXXX according to Paragraph 10a.  See KPMG Example 15 on Page 65.]

c.  Yes because a mortgage-backed security can be an underlying.

d.  No because a mortgage-backed security cannot be an underlying.

35. (03 Points)   Charter Airlines has a contract to purchase 100,000 gallons of fuel per month at $1.10 per gallon for a period of 12 months.  However, the contract stipulates that either Charter or its supplier can cancel fuel delivery of any amount provided it pays the difference between the current market price and the contract price.  Hence, Charter may either receive cash or pay out cash no matter who cancels the delivery.  Identify the underlying and the notional in this contract, and then discuss why SFAS 133 accounting rules must or must not be applied to this contract in the ledgers of Charter Airlines.

a.  The notional is 100,000 gallons with an underlying of $1.10.  The contract is not subject to SFAS 133 rules because Charter’s supplier can get out of the contract at any time.

b.  The notional is $1.10 with an underlying of 100,000 gallons of fuel.  The contract is not subject to SFAS 133 rules because Charter’s supplier can get out of the contract at any time.

c.  The notional is 100,000 gallons with an underlying of $1.10.  The contract is subject to SFAS 133 rules because there is a contractual specification for net settlement at any time.
[XXXXX Paragraph 10b of SFAS 133 and KPMG Example 18 on Page 67.]

d.  The notional is $1.10 with an underlying of 100,000 gallons of fuel.  The contract is subject to SFAS 133 rules because Charter’s supplier can get out of the contract at any time.

36. (03 Points)   Bank A has a 18% note with Shaky S Ranch that pays Bank A amortized principal and interest payments each month until the loan is paid off in 12 months.  Bank A enters into a credit swap with Surety Bank.  Bank A submits all Shaky S Ranch’s payments on the note to Surety and receives a fixed rate of 8% plus a lump-sum payment of the principal at the end of the 12 months.  Bank A has thus swapped out its Shaky credit risk in return for losing 10% of the interest on the note.  Does this credit swap fall under SFAS 133 accounting rules?

a.  Yes since it has an underlying, a notional, a net cash settlement provision, and requires no large premium to enter into the swap.

b.  No because financial guarantees are specifically excluded by SFAS 133.
[XXXXX under Paragraph 10d of SFAS 133 and KMPG Problem 18 beginning on Page 67.]

c.  No because the net settlements are subject to a Shaky third party rather than an independent market event.  

d.  No because this would be deemed a sale of the 18% note without recourse and the issuance of an 8% note that is, in effect, independent of the 18% note and thus is subject to SFAS 115 rules that substitute for SFAS 133 rules in this instance.

37. (03 Points)   Aggie Land Company spends $50,000 for a six-month option to purchase 1,500 acres of the Longhorn Ranch for $500 per acre.  Land transactions in this part of Texas are few and far between, and the Aggies want to have more time to sweat out the outcome of efforts to rezone the property for commercial development.  Is this option a derivative instrument subject to SFAS 133 rules?

a.  Yes since it has an underlying of $500 per acre, a notional of 1,500 acres, a net cash settlement provision of $750,000 for the land.  The $50,000 premium is 6.67% of the settlement price.

b.  Yes since it has an underlying of 1,500 acres, a notional $750 per acre, a net cash settlement provision of $750,000 for the land.  The $50,000 premium is 6.67% of the settlement price.

c.  No since the option is for land that is not readily converted into cash in an active trading market.
[XXXXX because of no cash settlements under Paragraph 10a on Page 5 of SFAS 133 and KPMG Example 19 on Page 68.  Note that even though Aggie Land Company may have written the option, written options are covered by SFAS 133.  It is, however, to declare written options as cash flow hedges.  For example, see how written options are accounted for in Paragraph 92 of SFAS 133.]

d.  No since Aggie Land Company is the option writer and written options are not accounted for as derivatives under SFAS 133 rules.

38. (03 Points)   Putter Corporation receives no premium for a one-year option to sell 100,000 shares of its own common shares to Caller Corporation.  Putter’s outstanding shares are currently selling in an active public stock exchange for $2.20 per share.  The strike price is $2 per share.  Assume that Putter can settle the contract whenever it chooses over the next year by delivering the shares or by paying/receiving a net cash difference between the strike price and the current market price when the option is exercised.  Must Putter Corporation follow SFAS 133 rules when accounting for this option?

a.  Yes, because there is no premium on a derivative having a notional of 100,000 shares, an underlying of the price of the shares when the option is exercised, and net cash settlement provisions in lieu of delivering actual shares.  

b.  No, because the option can be settled by issuing previously authorized but unissued shares and, thereby, does not require either cash settlement or the issuance of treasury shares that the Putter Corporation purchased on the open market.

c.  No, because SFAS 133 bans derivatives that are indexed to its own stock classified as Stockholders’ Equity.
 [XXXXX No, according to Paragraph 11a on Page 6 of SFAS 133 which bans indexing a company’s own equity shares as the contract’s underlying.]

d.  No since Putter Corporation is the option writer and written options are not accounted for as derivatives under SFAS 133 rules.

39. (03 Points)   Assume all of the same facts in the above question, except now you should assume that the option may be exercised at the discretion of Caller Corporation rather than Putter Corporation.  In other words, Putter Corporation must either deliver shares or the net cash settlement if Caller Corporation exercises the option.  Must Putter Corporation follow SFAS 133 rules when accounting for this option? 

a.  Yes, because there is no premium on a derivative having a notional of 100,000 shares, an underlying of the price of the shares when the option is exercised, and net cash settlement provisions in lieu of delivering actual shares.
[XXXXX  It is true that Paragraph 11a on Page 6 of  SFAS 133 which bans indexing a company’s own equity shares as the contract’s underlying.   However, pursuant with EITF 96-13, the contract is accounted for as an asset or liability since it can be exercised at the option of Caller Corporation and contains a net cash settlement option that may entail delivery of no shares.  For example, failure to recognize this would understate cash liabilities if Putter shares rise in price.  See KPMG Example 20 beginning on Page 68.]

b.  No, because the option can be settled by issuing previously authorized but unissued shares and, thereby, does not require either cash settlement or the issuance of treasury shares that the Putter Corporation purchased on the open market.

c.  No, because SFAS 133 covers derivatives that are indexed to its own stock classified as Stockholders’ Equity.

d.  No since Putter Corporation is the option writer and written options are not accounted for as derivatives under SFAS 133 rules.

40. (03 Points)   Assume the same facts in the above question, except now assume that the option holders are Putter Corporation employees rather than the Caller Corporation.  Assume the options were issued as part of a compensation plan and that employees may either receive actual shares at $2 per share or a cash settlement for the difference between market price and the $2 strike price.

a. Yes, because there is no premium on a derivative having a notional of 100,000 shares, an underlying of the price of the shares when the option is exercised, and net cash settlement provisions in lieu of delivering actual shares.  

b.  No, because the option can be settled by issuing previously authorized but unissued shares and, thereby, does not require either cash settlement or the issuance of treasury shares that the Putter Corporation purchased on the open market.

c.  No, because SFAS 133 declares those stock-based compensation contracts are to be accounted for by SFAS 123 rather than SFAS 133.
[XXXXX  See Paragraph 11b on Page 7 of  SFAS 133 which indicates that SFAS 123 takes control of stock-based compensation plans.]

d.  No since Putter Corporation is the option writer and written options are not accounted for as derivatives under SFAS 133 rules.

41. (03 Points)   ABC Company issued long-term bonds paying 2% for the first 10 years and a variable rate of LIBOR plus 200 basis points thereafter.  The variable portion is to be viewed as a “fixed-to-floating” embedded derivative.  Can this derivative be accounted for apart from its host contract?

a.  Yes, because the contract can be viewed has having two independent parts, namely the fixed-rate part and the variable rate part.

b.  No, because Paragraph 13 states that a fixed-to-floating rate embedded derivative is “clearly-and-closely related” and, therefore cannot be accounted for separately.

c.  Yes, because Paragraph 13b makes an exception to the “clearly-and-closely related” criterion if the embedded derivative can at least double the investor’s initial rate of return.  In the above example, the low 2% interest rate can easily be more than doubled.
[XXXXX See Paragraph 13b and KPMG Example 24 on Page 72.]

d.  No because the contract cannot be viewed has having two independent parts, namely the fixed-rate part and the variable rate part.  There is no embedded derivative.

42. (03 Points)   Suppose a bond receivable has a fixed coupon rate plus commodity options that add to the payments for rising prices of a commodity.  Will the derivatives be accounted for separately if the commodity is gold versus a rare metal that is not traded in an active market exchange?

a.  No, neither type of commodity in this case requires that the derivatives be accounted for separately.

b.  Yes, both types of commodities in this case require that the derivatives be accounted for separately.

c.  Yes, only the gold-based derivatives will be accounted for separately.
[XXXXX where Paragraph 188 on Page 98 illustrates the gold-linked bull note.  The rare metal option has no cash settlement option and is excluded by Paragraph 10a on Page of SFAS 133 and KPMG Example 19 on Page 68.]

d.  Yes, only the rare metal derivatives will be accounted for separately.

43. (03 Points)  Suppose a bond receivable has a fixed coupon rate plus options that add to the payments for rising prices of a market-traded item.  Will the derivatives be accounted for separately if the item is gold versus an equity index Dow Jones Industrial Average stock index?

a.  No, neither type of item in this case requires that the derivatives be accounted for separately.

b.  Yes, both types of items in this case require that the derivatives be accounted for separately.
[XXXXX where Paragraph 188 on Page 98 illustrates the gold-linked bull note.  An illustration of the equity-indexed derivative is illustrated in Paragraph 185 on Page 97 of SFAS 133.  Also see Paragraph 250 on Page 133 of SFAS 133.]

c.  Yes, only the gold-based derivatives will be accounted for separately. 

d.  Yes, only the equity-indexed derivatives will be accounted for separately

44. (03 Points)   Suppose a U.S. bank loans GE Sub $10 million at 10% interest to be paid in GE Sub’s U.S. dollar functional currency.  However, suppose that the note stipulates that the principal can be repaid after one year with $10 million or with 6.10 million Pounds Sterling.  How is the option to repay in Pounds Sterling accounted for under SFAS 133?

a.  The option is an embedded derivative that must be accounted for separately under SFAS 133.
[XXXXX under Paragraph 12a on Page 7 of SFAS 133.  Paragraph 15 addresses foreign currency-denominated interest and principal, but this paragraph does not address foreign currency options.  Paragraphs 293-311 beginning on Page 146 of SFAS 133 elaborate on the concept of embedded derivatives.  Also see KPMG Example 27 on Page 74.]

b.  The option is an embedded derivative that is clearly-and-closely related to a point where the derivative cannot be separated from the host note contract.

c.  The option is not an embedded derivative but it can be accounted for separately under SFAS 133.

d.  The Option is not an embedded derivative and it cannot be accounted for separately from the note.

45. (03 Points)   Company ABC holds 10,000 shares of Microsoft Corporation in a portfolio that is deemed available-for-sale under SFAS 115.  To lock in a gain on the Microsoft Shares, the company enters into a forward contract for Microsoft shares.  Is this forward contract required to be accounted for separately as a derivative under SFAS 133?

a.  It depends upon whether Company ABC’s own share prices are highly correlated with Microsoft share prices.

b.  Yes because SFAS 133 requires separate accounting for most equity-indexed derivatives.
[XXXXX as illustrated beginning in Paragraph 185 on Page 97 of SFAS 133.  The main discussion is in Paragraph 12 on Page 7 of SFAS 133. Paragraphs 293-311 beginning on Page 146 of SFAS 133 elaborate on the concept of embedded derivatives.  Also see KMPG Problem 28 on Page 75.]

c.  No, because SFAS 133 excludes derivatives that are equity-indexed.

d.  No, because the derivative is a forward contract rather than an exchange-traded future contract whose value can be estimated using arms-length market prices.

46. (03 Points)   ABC Company enters an interest rate swap that swaps fixed-interest payments into LIBOR-based variable payments.  In addition, embedded into the contract is another derivative for an index-amortizing swap having a beginning notional of $10 million.  If LIBOR rises above 8% the notional rises to $12 million.  Is this embedded derivative swap within a swap required by SFAS 133 to be accounted for separately?

a.  No, because embedded derivatives within other embedded derivatives cannot be accounted for separately under SFAS 133 coverage since they normally meet clearly-and-closely related criteria.  [XXXXX Paragraph 12 only applies to derivatives embedded within nonderivative hosts.  In this case having both the interest rate swap and the embedded notional swap related to LIBOR makes them clearly-and-closely related. Paragraphs 293-311 beginning on Page 146 of SFAS 133 elaborate on the concept of embedded derivatives.  See KPMG Example 30 on Page 75.]

b.  No, because changes in the notional cannot be viewed as derivative instruments.

c.  Yes, because embedded derivatives within other embedded derivatives or nonderivatives may be accounted for separately under SFAS 133 coverage.

d.  Yes, because changes in the notional must be viewed as derivative instruments.

47. (03 Points)  Shortline Company is due to acquire 10,000 shares of Microsoft Corporation in a court settlement of a bad debt.  Assume that those shares, when acquired, will be available-for-sale and not trading securities.  Since the actual bankruptcy court settlement may take up to six months, Shortline hedges against a decline in Microsoft’s share prices by selling 10,000 shares short.  This is not entirely a naked short sale since the court has declared an eventual 10,000-share settlement.   Can this short position qualify as a fair value hedge under SFAS 133?

a.  Yes, because it hedges the fair value no matter whether the court settlement is viewed as a forecasted transaction or firm commitment.

b.  No, because all short sales are precluded from being fair value hedges.

c.  Maybe depending upon the unmentioned investment in the short sale and the firmness of the court settlement.  Shortline will never have to purchase the 10,000 shares whose value is being protected.  Hence there is no initial investment or commitment to purchase the shares themselves.  There may be unmentioned initial costs such as the legal costs.  The court settlement seems to be firm according to the wording of the question.  Hence, treating the short position as a fair value hedge appears to be a judgment call that is not explicitly covered in SFAS 133.
[XXXXX The FASB left open the possibility of short sales qualifying in Footnote 18 on Page 39 and Paragraph 290 on Page 145 of SFAS 133.  In spite of the fact that this short position is not exactly an option, suppose that a student argues for Answer d on grounds that this is a written option by Shortline and written options cannot be fair value hedges.  That answer was correct in the 162-B Exposure Draft. However, the FASB, in SFAS 133, relaxed the rules for written options under certain circumstances explained in Paragraphs 396-401.]

d.  No, because Shortline is the option writer in this case and written options cannot be hedges under SFAS 133 criteria for hedges.

48. (03 Points) Shortline Company purchases an available-for-sale securities under SFAS 115, 1 million shares of Xerox Corporation and is restricted in the purchase contract from selling those shares for six months.  Shortline hedges against a decline in Xerox’s share prices by borrowing an equal number of shares of Xerox from a bank and immediately sells the borrowed shares at market price.   Can this short position qualify as a fair value hedge under SFAS 133?

a.  No, because Shortline made a huge initial investment in the short position by agreeing initially to return the borrowed shares.  Those shares must be eventually purchased or Shortline must pass along the 1 million shares previously purchased.
XXXXX  [Paragraph 6b on Page 3 of SFAS 133 precludes any derivative for which there is a relatively large initial investment or commitment for an investment.  Short sales of borrowed securities violate low initial investment criteria according to Paragraph 59d on Page 39 of SFAS 133.]

b.  No, because all short sales are precluded from being fair value hedges.

c.  Maybe depending upon whether Shortline intends to purchase 10,000 additional shares to repay the loan or whether Shortline will use the 1 million Xerox shares that are already owned and in the vault.  Whether the short position is a fair value hedge appears to be a judgment call that is not explicitly covered in SFAS 133. 

d.  No, because Shortline is the option writer in this case and written options cannot be hedges under SFAS 133 criteria for hedges.
49. Swapline Corporation’s written swaption is designated as hedging a recognized asset or liability, the combination of the hedged item and the written option provides at least as much potential for
gains as a result of a favorable change in the fair value of the combined instruments as exposure to losses from an unfavorable change in their combined fair value. Will the test as a fair value hedge be met if all possible percentage favorable changes in the underlying (from zero percent to 100 percent) would provide at least as much gain as the loss that would be incurred from an unfavorable change in the underlying of the same percentage?

a.  Yes since a written option can be combined with any other nonopton derivative.
XXXXX  [The question is mostly a direct quote from Paragraph 20c on Page 12 of SFAS 133.  Answer d is absurd since fair value hedges do not affect other comprehensive income under SFAS 133 rules.  Also see KPMG Example 2 on Page 142.]

b.  Yes, swaptions cannot be cash flow hedges but can be fair value hedges.

c.  No, swaptions cannot be any type of SFAS 133 hedge.

d.  No, since only the effective portion of the hedge can be posted to other comprehensive income.

50. (03 Points)  PutEmUp Corporation owns 25% of the shares of a company whose shares are actively traded over the counter.  The shares are accounted for by PutEmUp as an equity-method investment even though they constitute less than one percent of the outstanding shares.  To protect the value of this investment, PutEmUp purchased a put option.  Can this option be a fair value hedge under SFAS 133?

a.  No, SFAS 133 explicitly disallows hedged items from being equity method security investments. 
[XXXXX according to Paragraph 21c on Page 14 and Paragraph 455 on Page 200 of SFAS 133.  Also see KPMG Example 4 on Page 143.]

b.  Yes, SFAS 133 allows hedged items to be equity method investments if the shares are traded on stock exchanges or over-the-counter markets.

c.  No, SFAS 133 allows hedged items to be equity method investments if the shares are traded on stock exchanges but not over-the-counter markets.

d.  No, the eventual ownership must be 100% of the shares without any minority-interest ownership.

51. (03 Points) PutEmUp Corporation owns 55% of the shares of a company whose shares are actively traded over the counter.  In a scheduled estate auction, PutEmUp intends to purchase at a large block of shares that will raise its stake to 70% of the shares outstanding.  Assume that the price will be the current market rate on the date of the auction.  To hedge against price increase, PutEmUp negotiates a call option with the same number of shares.  Can this option be a cash flow hedge under SFAS 133?

a.  No, SFAS 133 explicitly disallows hedged items related-party contracts.  Since PutEmUp has more than 50% of the voting shares, the forecasted transaction cannot be a hedged item in this case.
[XXXXX  Paragraph 29c on Page 20 of SFAS 133, the forecasted transaction cannot be with a related party such as a subsidiary or parent company if it is to qualify as the hedged transaction.]

b.  Yes, SFAS 133 allows hedged items to be equity method investments if the shares are traded on stock exchanges or over-the-counter markets.

c.  No, SFAS 133 allows hedged items to be equity method investments if the shares are traded on stock exchanges but not over-the-counter markets.

d.  No, the eventual ownership must be 100% of the shares without any minority-interest ownership.

52. (03 Points)  Home Oil Delivery, Inc. has a contract to purchase 100,000 gallons of home heating oil to be delivered in 30 days.  The price is to be the spot rate on the date of delivery.  Does this satisfy the SFAS criteria for a firm commitment?

a.  Yes as long as the contract cannot be easily broken without having to pay damages.

b.  No because SFAS 133 requires that the firm commitment be a recorded asset or liability.  The purchase contract for 100,000 gallons of fuel oil is not booked until the date of delivery and hence cannot be viewed as a firm commitment.  Traditional GAAP in the United States does not allow that such purchase contracts be booked as assets and liabilities.  

c.  No if this type of purchase is part of normal operations of this company.  Normal purchase and sale contracts cannot be firm commitments.

d.  No since the settlement price is not fixed at a given amount in the contract.
XXXXX  [The definition of a firm commitment begins on Paragraph 440 on Page 195 of SFAS 133.  This definition requires a fixed quantity and a fixed price.  Paragraph 324 on Page 157 declares that firm commitments must be fixed-price contracts.  Also see Paragraphs 370, 416, and 432 of SFAS 133.  Answer b is not correct according to Paragraph 8 on Page 13 and Paragraph 37 on Page 24 of SFAS 133.  That paragraph indicates that a firm commitment exist even if GAAP does not allow the asset and liability to be booked.
53. (03 Points)  Can hedges against unrecognized (not booked as assets or liabilities) firm commitments be accounted for as hedges under SFAS 133?

a.  No for cash flow and no fair value hedges because the firm commitment is not booked as an asset or liability.

b.  Yes for cash flow hedges but no for fair value hedges because the firm commitment is not booked as an asset or liability.

c.  No for cash flow hedges and yes for fair value hedges.
[XXXXX Example 9 beginning in Paragraph 162 on Page 84 illustrates when a forecasted transaction’s cash flow hedge has to be dedesignated as it becomes a firm commitment.  See Paragraph 20 on Page 11 for a discussion of fair value hedging of firm commitments.]

d.  Yes for cash flow hedges and yes for fair value hedges.

54. (03 Points)  CostMe Corporation owns 10,000 shares of Private Business Corporation (PBC).  Assume that PBC has 1,200,000 outstanding shares that are not actively traded in securities markets.  Such a small stake in a privately held company allows CostMe to carry the investment at cost rather than equity under rules of APB 18.  Is this investment eligible for a fair value hedge using some type of derivative financial instrument?

a.  Yes but only if it is carried at cost and is not accounted for under the equity method.
[XXXXX As long as the equity method is not used for a consolidated subsidiary according to Paragraph 456 on Page 201 of SFAS 133.  Also see KPMG Example 8 on Page 145.]

b.  No as long as the accounting basis is cost rather than value.

c.  No irrespective of whether the cost or equity method is used for the 10,000 shares.

d.  None of the above.

55. (03 Points)  Does fair value remeasuring of assets and liabilities negate their ability to host a fair value hedge under SFAS 133.  Let LCM depict lower-of-cost-or-market revaluations?  Let FV depict remeasurement above or below historical cost.

a.  Yes for the case of remeasurement downward under LCM and yes for both ways under FV.

b.  Yes for the case of remeasurement downward under LCM and no for both ways under FV.
[XXXXX See the definition of Fair Value Hedge in Bob Jensen’s SFAS Glossary.  Also see Problems 10 and 11 of KPMG on Pages 145-146.]

c.  No for the case of remeasurement downward under LCM and yes for both ways under FV.

d.  No for the case of remeasurement downward under LCM and no for both ways under FV.

56. (03 Points)  CallEmUp Corporation paid a $10,000 premium for futures contracts used as a cash flow hedge of a forecasted transaction.  Can futures contracts be used as a cash flow hedge and is this $10,000 to be used in measuring ineffectiveness of the hedge under SFAS 133 rules?

a.  Yes the futures contracts can be used for the cash flow hedge and yes the premium is included in measuring effectiveness.

b.  Yes the futures contracts can be used for the cash flow hedge and no the premium is not included in measuring effectiveness.
[XXXXX  An example of a cash flow hedge using futures contracts appears beginning with Paragraph 144 on Page 79 of SFAS 133.  Paragraph 65c states that the premium may be excluded in measuring ineffectiveness.]

c.  No the futures contracts can be used for the cash flow hedge and yes the premium is included in measuring effectiveness.

d.  No the futures contracts can be used for the cash flow hedge and no the premium is not included in measuring effectiveness.

57. (03 Points)  WeSwappedEm Company used a swap to hedge cash flow risk of interest payments on a $1 million commercial note receivable.  The Company was forced at a later time to take lower payments reducing the note’s present value, under SFAS 114 impairment tests, to $800,000.   Should both the value of the note and the interest rate swap be remeasured?

a.  The note should be written down.  The interest rate swap should be written down.

b.  The note should be written down.  The interest rate swap should not be written down.
[XXXXX According to Paragraph 27 on Page 17 of SFAS 133.  The swap is a separate contract and nothing is said about its impairment.  Also see KPMG Example 18 on Page 149.]

c.  The note should not be written down.  The interest rate swap should be written down.

d.  The note should not be written down.  The interest rate swap should not be written down.

58. (03 Points)  Wheatery Flour Company is uncertain about both the price of wheat and how many bags of flour will be sold each month over the next six months for forecasted sales at $5 per bag.  This company enters into a futures contract in wheat to hedge the forecasted flour sales.  Is this a cash flow hedge under SFAS 133 rules?

a.  No, because any futures contract does not qualify as a derivative instrument under SFAS 133.  

b.  No, because any futures contract does not qualify for cash flow hedging under SFAS 133.  Futures contracts may only be used for fair value hedging.

c.  Yes, because this contract meets both the derivative and cash flow tests of SFAS 133.

d.  No, because the uncertainty in sales volume makes the contract too uncertain to qualify as a forecasted transaction.
[XXXXX  Forecasted transactions differ from firm commitments in terms of enforcement rights and obligations.  They do not differ in terms of the need for a specific notional and a specific underlying under Paragraph 440 on Page 195 of SFAS 133.  The sales amounts of the derivative’s host (monthly sales) are too uncertain to qualify as specific notional.  Also see KPMG Example 1 on Page 219.]
59. (03 Points)  Which statement below is the most correct in terms of a cash flow hedge under SFAS 133?  Assume that the writer of the option within a swaption is termed the writer of the swaption.

a.  A swaption can be a cash flow hedge without regard to who wrote the swaption.

b.  A written swaption cannot be a cash flow hedge, but a swaption might be a cash flow hedge if the company is not the writer of the swaption.

c.  A company must be the writer of a swaption in order for that swaption to be a cash flow hedge.

d.  A written swaption may be a cash flow hedge but is subject to added constraints that it must provide at least as much potential for favorable cash flows as exposure to unfavorable cash flows.
[XXXXX Paragraph 28c on Page 19 of SFAS 133.  Also see KPMG Example 3 on Page 220.]
60. (03 Points) Which statement below is the most correct in terms of a cash flow hedge under SFAS 133?

a.  An option can be a cash flow hedge without regard to who wrote the (written) option.

b.  A written option cannot be a cash flow hedge, but option might be a cash flow hedge if the company is not the writer of the option.

c.  A company must be the writer of an option in order for that option to be a cash flow hedge

d.  Written options might hedge recorded assets and liabilities, but they may not hedge forecasted purchases and sales since those forecasted transactions are not yet recorded in the ledgers.
[XXXXX Paragraph 28c on Page 19 of SFAS 133.  Also see KPMG Example 4 on Page 220.]
61. (03 Points)  Rather than purchase a new option, ABC Company decided to designate an option purchased last year as a cash flow hedge of a forecasted transaction that seemed probable on January 20.  Is this designation allowed on January 20 for an option already on the books?

a.  The option may not be designated as a hedge on January 20 but might have been designated a hedge when the option was purchased.
[XXXXX   See Bob Jensen’s definition of a Cash Flow Hedge in SFAS 133 and Paragraph 28 beginning on Page 18 of SFAS 133.  Also see KPMG Example 6 on Page 222.]

b.  An option may not be designated a cash flow hedge irrespective of its purchase date.

c.  The option may be redesignated as a cash flow hedge on January 20.

d.  The answer depends upon whether the option is traded on a market exchange.  Custom options not traded on the open market cannot be properly valued in order to be redesignated as a cash flow hedge subsequent to the purchase date.

62. (03 Points)  AggiesInternational Corporation faces the risk of price declines on its forecasted sales of corn, soybeans, and rice to Japan.  Sales quantities are also uncertain.  As a hedge, this company enters into a contract (with a $0 premium) to sell as much as it wants to the Shimura Company for a contracted fixed price and contracted proportions of all three grains per ton.  In other words, for a fixed price and fixed proportions, AggiesInternational has an option to sell as much as it wants to Shimura for a period of six months.  Can this option be a cash flow hedge under SFAS 133 rules?

a.  No because the notional is not fixed, and no because the forecasted transaction is a compounding of three grains subject to varying price risks.

b.  No because the notional is not fixed even though it would otherwise be yes since the forecasted transaction contains fixed proportions of grains for which there is a single variable (portfolio) price per ton that can be hedged.
[XXXXX Paragraph 440a on Page 195 of SFAS 133 requires fixed quantities as well as fixed prices for the notional.  The question says sales quantities are uncertain.  Paragraph 21 and other paragraphs listed under “Forecasted Transaction” in Bob Jensen’s SFAS 133 Glossary will not allow a portfolio of transactions to be hedged as a portfolio if the risks are not identical (within a 10% range).  In this particular question, however, the option’s specification for sales in a fixed proportion per ton converts the three grains into a single product just as if the company was selling a single product that was being hedged.  For example, bags of animal feed comprised of the three grains could be hedged as “bags” if other conditions of the hedge were satisfied.]

c.  Yes because the notional is fixed but no, in the final analysis, because the forecasted transaction is a compounding of three grains subject to varying price risks.

d.  Yes because the notional is fixed, and yes since the forecasted transaction contains a fixed proportion of grains for which there is a single variable portfolio price that can be hedged.

63. (03 Points)  Purdy Jewelry has a contract to purchase, at spot prices, 100 ounces of gold per month from a supplier over the next six months.  Can Purdy enter into a portfolio of gold futures contracts as gold purchasing cash flow hedge (assuming that a futures contract is available for exactly 100 ounces for each of the months)?

a.  Yes, because the order contract is really comprised of six commitments that can be hedged with six separate futures contracts (in a single portfolio) under SFAS 133 rules.
[XXXXX Since the notional is fixed at 100 ounces per month and futures contracts have fixed prices to satisfy the Paragraph 440a condition on Page 195 of SFAS 133.  Only the effective portion can be posted to OCI if the futures contracts were not perfectly effective in terms of quantities and prices.  Also see KPMG Example 9 on Page 223.  This is also somewhat related to the KPMG Example 11 on Page 224.]

b.  No, because one contract cannot be separated, under SFAS 133 rules, into six items to be hedged with six separate futures contracts.

c.  No, because futures contracts cannot be used as cash flow hedges.

d.  No because purchase orders of raw materials cannot be hedged for cash flows under SFAS 133.

64. (03 Points)  CallEmUp Company paid $10,000 for a six-month call option to purchase a specified number of common shares of Apple Corporation.  With high probability, it will purchase, as an available-for-sale investment under SFAS 115, those Apple shares on the date the option expires no matter what the price of each share on that day.  If the price is more than the strike price, CallEmUp will exercise its expiring call option.  If the price is higher than the market price, the company will pay the market price and weep over the fact that it wasted $10,000 on the premium of a useless option.  On the date that the option is purchased, can this option be viewed as a cash flow hedge of the forecasted purchase of Apple’s common shares?

a.  No because cash flow hedges cannot be entered into for available-for-sale security investments, and no because the option only hedges in one direction for price increases and not price decreases.

b.  Yes, cash flow hedges can be entered into for available-for-sale security investments but no, in the final analysis, because the option only hedges in one direction for price increases and not price decreases.

c.  No, because cash flow hedges cannot be entered into for available-for-sale security investments, but otherwise yes even though the option only hedges in one direction for price increases and not price decreases.

d.  Yes, cash flow hedges can be entered into for available-for-sale security investments and yes even though the option only hedges in one direction for price increases and not price decreases.
[XXXXX  Available-for-sale securities meet the Paragraph 29d test but trading securities fail the test.  See the definition of Cash Flow Hedge in Bob Jensen’s SFAS 133 Glossary.  Certainly CallEmUp will not care about price declines if it is committed to purchasing the 10,000 shares on the specified date.  However, the option can only be a cash flow hedge to the extent that the company assesses hedge effectiveness at the time the option is purchased.  See the definition of “Ineffectiveness” in Bob Jensen’s SFAS 133 Glossary.  Also see KPMG Example 10 on Page 224.]
65. Suppose that one-month after the purchase of the call option in the above question, when CallEmUp Company closes its books, the call option is in the money for $250,000.  Assume that the option will not be exercised until it expires in five months.  If this call option is revalued to $250,000 on the books, how should the gain be booked at this point in time and disposed of later in time?  Assume for this question that the call option, rightly or wrongly, is being accounted for as a cash flow hedge.

a.  All unrealized holding gains or losses will be booked to Other Comprehensive Income (OCI) until the option is derecognized from becoming expired, exercised, or of improbable value due to a low probability of purchasing the Apple Corporation shares.
[XXXXX  Paragraph 30 on Page 21 of SFAS 133 discusses the posting to OCI.  Paragraph 31 deals with reclassifications from OCI into earnings.  See the terms Derecognition and Dedesignation in Bob Jensen's SFAS 133 Glossary.  Also see KPMG Example 19 on Page 228.]

b.  All unrealized holding gains or losses will be booked to current earnings until the option is derecognized from becoming expired, exercised, or of improbable value due to a low of purchasing the Apple Corporation shares.

c.  All unrealized holding gains or losses will be netted against the carrying value of the call option until the option is derecognized from becoming expired, exercised, or of improbable value due to a low probability of purchasing the Apple Corporation shares.

d.  Unrealized holding gains or losses will not be booked and are noted in a footnote to the financial statements until the option becomes expired, exercised, or of improbable value due to changed probability of purchasing the Apple Corporation shares.

66. (03 Points)  Assume the same facts as in the previous question except that you are now to assume that the Apple Corporation shares will be carried as trading securities under SFAS 115 rather than available-for-sale securities. On the date that the option is purchased, can this option be viewed as a cash flow hedge of the forecasted purchase of Apple’s common shares?

a.  No because cash flow hedges cannot be entered into for trading security investments, and no because the option only hedges in one direction for price increases and not price decreases.

b.  Yes, cash flow hedges can be entered into for trading security investments but no, in the final analysis, because the option only hedges in one direction for price increases and not price decreases.

c.  No, because cash flow hedges cannot be entered into for trading security investments, but otherwise yes even though the option only hedges in one direction for price increases and not price decreases. 
[XXXXX Available-for-sale securities meet the Paragraph 29d test but trading securities fail the test.  See the definition of Cash Flow Hedge in Bob Jensen’s SFAS 133 Glossary.  Certainly CallEmUp will not care about price declines if it is committed to purchasing the 10,000 shares on the specified date.  However, the option can only be a cash flow hedge to the extent that the company assesses hedge effectiveness at the time the option is purchased.  See the definition of “Ineffectiveness” in Bob Jensen’s SFAS 133 Glossary.  Also see KPMG Example 10 on Page 224.]

d.  Yes, cash flow hedges can be entered into for trading security investments and yes even though the option only hedges in one direction for price increases and not price decreases.

67. (03 Points)  LongIntoSwap Company has a ten-year variable rate note that it hedged with an interest rate swap for the first five years.  Choose the best statement below:

a.  Yes, interest rate swaps can be used to hedge variable interest rates.  Also, yes --- only a portion of a single hedged item can be hedged under SFAS 133.
XXXXX  [Example 5 illustrates using an interest rate swap to hedge a cash flow beginning in Paragraph 131 on Page 72 in SFAS 133.  However, SFAS 133 is silent about hedging only a portion of a single asset or liability.  It appears that this is possible.  See the definition of Cash Flow Hedge in Bob Jensen’s SFAS 133 Glossary.]

b. Yes, interest rate swaps can be used to hedge variable interest rates.  However, no --- a portion of a single hedged item cannot be hedged under SFAS 133.

c. No, interest rate swaps cannot be used to hedge variable interest rates.  Otherwise, yes  --- only a portion of a single hedged item can be hedged under SFAS 133.

d. No, interest rate swaps cannot be used to hedge variable interest rates.  Also, no --- a portion of a single hedged item cannot be hedged under SFAS 133.

68. (03 Points) )  LongIntoSwap Company has a two-year variable rate note that it hedged with an interest rate swap for four years.  Choose the best statement below:

a. Yes, interest rate swaps can be used to hedge variable interest rates.  Also, yes --- only a portion (half of two years) of a single hedging instrument can be used to hedge two-year note under SFAS 133 rules. 

b. Yes, interest rate swaps can be used to hedge variable interest rates.  However, in this case no --- a portion (half of a four-year swap) of a single hedging instrument cannot be used to hedge two-year note under SFAS 133 rules.
XXXXX  [SFAS 133 illustrates using an interest rate swap to hedge a cash flow beginning in Paragraph 131 on Page 72 in SFAS 133.  Paragraph 18 allows portions of a derivative to be designated as a hedge if, and only if, the risk level of the portion is equal to the risk level of the whole.  In this illustration, the risk level in the first half of the swap cannot be assumed to be equal to the risk level in the last half of the swap.  This example appears under the term Cash Flow Hedge in Bob Jensen’s SFAS 133 Glossary.]

c. No, interest rate swaps cannot be used to hedge variable interest rates.  Otherwise, yes  --- only a portion of a single hedged item can be hedged under SFAS 133.

d. No, interest rate swaps cannot be used to hedge variable interest rates.  Also, no --- a portion of a single hedged item cannot be hedged under SFAS 133.

69. (03 Points)  Suppose Exxon has a 22% share and Texaco has a 65% share of the FarOutOil Company offshore drilling venture.  The equity method is used by Exxon to account for this investment.  FarOutOil has a $100 million variable interest rate note which was co-signed by Texaco in order to obtain the loan.  Can Exxon designate an SFAS 133 cash flow hedge on an interest rate swap to pay fixed and receive variable interest cash flows large enough to hedge its 22% (equity) share of the profits of FarOutOil Company?

a.  Yes.  The swap has a notional, an underlying, settles in cash, and requires no premium. 

b.  No.  The swap has a notional, an underlying, settles in cash, and requires no premium.  However, SFAS 133 explicitly prohibits hedges that protect equity-method earnings.
[XXXXX  Such a derivative under SFAS 133 Paragraph 29c on Page 20 that requires variations in cash flows to Exxon.  The $100 million loan is not clearly-and-closely related to Exxon’s hedge.  Also Paragraph 29f bans equity-method investments.  See KPMG Example 16 beginning on Page 226.]

c.  No.  The swap has a notional (the loan principal), settles in cash, and requires no premium.  However, it does not have a qualified underlying for a SFAS 133 derivative instrument.

d.  No.  The swap has an underlying (the loan principal), settles in cash, and requires no premium.  However, it does not have a qualified notional for a SFAS 133 derivative instrument. 

70. (03 Points)  Weeping Corporation has a $2 million deferred loss in Other Comprehensive Income (OCI) as a result of fair value losses on a forward contract over the past 12 months.  The forward contract is a cash flow hedge of a forecasted inventory purchase.  The forecasted operating profit on the inventory is $1 million (before accounting for any ultimate settlement loss on the forward instrument).  How much of the OCI balance should be transferred to current earnings even though the forecasted transaction will not transpire for another six months?

a.  Half of the $2 million in OCI should be transferred to current earnings now.
[XXXXX The topic is impairment in Paragraph 31 on Page 22 of SFAS 31.  Also see KPMG Example 22 beginning on Page 230.]

b.  All of the $2 million should be transferred to current earnings now.

c.  None of the $2 million should be transferred to current earnings now.

d.  Any part between zero and 100% of the $2 million can be chosen at management discretion.

71. (03 Points)  Which of the following cannot be designated as a derivative hedge of the foreign currency risk exposure?

a.  A recognized firm commitment (a foreign currency fair value hedge).
[XXXXX See Paragraph 4 on Page 2 of SFAS 133.  If the firm commitment is recognized, it is by definition booked and its loss or gain is already accounted for.  For example, a purchase contract for 10,000 units per month at 100DM per unit is unrecognized and has a foreign currency risk exposure if the payments have not been made.  If the payments have been prepaid, that prepayment is “recognized” and has no foreign currency risk exposure.]

b.  An unrecognized firm commitment (a foreign currency fair value hedge).

c.  An available-for-sale security (a foreign currency fair value hedge).

d.  A forecasted transaction.

72.  (03 Points) Ticky Tech Manufacturing Company has a firm commitment to buy 1,000 units of raw material per month at a unit price of 5,000DM Deutsche Marks.  Can this firm commitment be designated as a hedged item on a foreign currency risk exposure of 500 units each month?

a.  Yes with respect to any 500 units out of the 1,000 each month.

b.  Yes with respect any designated 500 units designated in advance out of the 1,000 units each month.  For example, they could be the designated first 500 purchased or the last 500 purchased in a given month. 
[XXXXX according to Paragraph 21a on Page 13 of SFAS 133.  In particular see that paragraph’s Part 2b regarding “selected cash flows.”  Also see KPMG Example 1c on Page 262 of SFAS 133.]

c.  No with respect to any 500 units out of the 1,000 each month.

d.  No with respect any designated 500 units designated in advance out of the 1,000 units each month.  For example, it makes no difference if the firm designated the first 500 purchased or the last 500 purchased in a given month.

73. (03 Points)  HomeBase owns 5,000 shares of a company that trades only on the London Stock Exchange in Pounds Sterling.  HomeBase’s functional currency is the U.S. dollar.  Can the expected future cash dividends be designated as a hedged item for cash flow risk?

a.  Only if the investment is classified as a trading security under SFAS 115.

b. Only if the investment is classified as available-for-sale under SFAS 115.  
[XXXXX  See definition of available-for-sale security in Bob Jensen’s SFAS 133 Glossary.   See also KPMG Example 5 on Page 265.]

c.  Yes.

d.  No.

74. (03 Points)  GuessAtIt Company headquartered in the U.S. has a forecasted transaction to purchase bonds having a coupon rate of 10%.  Can these bonds be designated as a hedged item for cash flow risk provided all other conditions are met to be such a hedged item?

a.  No if the debt is denominated in a foreign currency.
[XXXXX   Before the bond is purchased, its forecasted transaction is not allowed to be a cash flow hedged item under Paragraph 29d on Page 20 of SFAS 133 since, upon execution of the transaction, the bond "will subsequently be remeasured with changes in fair value ...."  Also see Paragraph 36 on beginning on Page 23.  Under SFAS 115 the foreign currency-denominated bond will be adjusted for fair value.  Also see KPMG Example 6 beginning on Page 266.]

b.  No, if the debt is denominated in the U.S. dollar.

c.  Both answers above are correct.

d.  None of the above.

75. (03 Points)  US Holding Company owns 1 million shares of Jolly Old Ltd. in England.  Can US Holding hedge the cash flows expected for Jolly Old dividends?  Assume the tests for forecasted transactions are satisfied.

a.  Yes if equity method accounting is used, and yes if US includes Jolly Old in its consolidated statements.

b.  Yes if equity method accounting is used, and no if US includes Jolly Old in its consolidated statements.

c.  No if equity method accounting is used, and yes if US includes Jolly Old in its consolidated statements.

d.  No if equity method accounting is used, and no if US includes Jolly Old in its consolidated statements.  
[XXXXX  The equity method is banned by Paragraph 21c on Page 14 and Paragraph 455 on Page 200 of SFAS 133. Paragraph 485 on Page 211 of SFAS 133 bans foreign currency risk hedges of forecasted dividends of foreign subsidiary.  Also see KPMG Example 7 on Page 266.]
76. (03 Points)  Suppose US Holding Company has a subsidiary Jolly Old Ltd. in England.  Can US Holding Company hedge a foreign currency risk exposure to one of Jolly Olds forecasted transactions for an inventory purchase?

a.  Yes if Jolly Old is also a party to the forecasted transaction contract. 
[XXXXX  Paragraph 40 beginning on Page 25 of SFAS 133 bans this unless Paragraph 40a is satisfied.  Also see KPMG Example 8 on Page 266.]

b.  Yes irrespective of whether the parent company is or is not a party to the forecasted transaction contract.

c.  No if Jolly Old is also a party to the forecasted transaction contract.

d.  No irrespective of whether the parent company is or is not a party to the forecasted transaction contract.

77. (03 Points)  Forecasted transactions between related parties may be designated as cash flow hedge items under what circumstances?

a.  The company with the foreign currency exposure risk is a party to the hedging instrument.

b.  The hedged transaction is not denominated in that company’s functional currency.

c.  Both answers above are correct under some other conditions when the company has a foreign currency exposure risk.
[XXXXX  See Paragraph 40 beginning on Page 25.]

d.  None of the above.

78. (03 Points)   Rippen Company enters into forward contracting with Bank A to sell Dutch guilders and purchase French francs.  The purpose is to hedge two combined unrelated foreign currency risks from two related companies, one a Holland subsidiary and the other a French subsidiary.  Bank A is independent of all the interrelated companies in this scenario.  Can this forward contracting meet the SFAS 133 conditions for foreign currency risk hedging under SFAS 133?

a.  Not if the forward contracting is combined into one forward contract.
[XXXXX Paragraph 18 near the bottom of Page 10 requires “all or a portion may be designated a hedging instrument.”  It does not allow separating a single instrument “into components representing different risks.”  See KPMG Example 10 on Page 269.]

b.  Only if the forward contracting is combined into one forward contract.

c.  Yes in the sense that is how the forwarding contracts are packaged does not matter.

d.  None of the above.

79. (03 Points)  In General Motors Corporation in the U.S. announced a firm commitment to acquire 25% of the outstanding equity shares of a Swedish parts manufacturer for 10 million crones.  Can General Motors enter into a currency forward contract to hedge foreign currency risk and account for this derivative under SFAS 133 rules?

a.  No, because firm commitments cannot be accounted for as SFAS 133-type hedges.

b.  No, for a reason other than the firm commitment reason mentioned above.  
[XXXXX the issue here is the fact that a 25% equity investment must be accounted for under the equity method.  Investments accounted for under the equity method cannot be hedged items under Paragraph 29c on Page 20 of SFAS 133.  See KPMG Example 11 on Page 170.]

c.  Yes, because under SFAS 133, foreign exchange risk can be hedged for foreign commitments.

d.  None of the above.

80. (03 Points)  Suppose that General Motors Corporation eventually acquires 55% of the Swedish parts manufacturer and consolidates the results of its operations in consolidated financial statements.  Can a declared dividend in crone to be paid in three months be hedged by GM for foreign currency risk?

a.  Yes because GM must use the equity method, and yes because GM consolidates the sub.

b.  Yes because GM must use the equity method, but no in the final analysis because GM consolidates the sub..

c.  No because GM must use the cost method if it consolidates the sub..

d.  No because GM must use the equity method irrespective of whether GM consolidates the sub..
[XXXXX  The equity method is banned by Paragraph 21c on Page 14 and Paragraph 455 on Page 200 of SFAS 133. Paragraph 485 on Page 211 of SFAS 133 bans foreign currency risk hedges of forecasted dividends of foreign subsidiary.  Also see KPMG Example 7 on Page 266.]
81. (03 Points)  Suppose that General Motors Corporation eventually acquires 90% of the Swedish parts manufacturer and consolidates the results its operations in consolidated financial statements.  GM then borrows 35 million crones from a Swedish bank to hedge its net investment against currency translation losses.  Can such a foreign currency risk be hedged under SFAS 133 rules?

a.  Yes as long as GM faces translation gains and losses on its net investment.
[XXXXX Paragraph 42 on Page 26 of SFAS 133 and SFAS 52.  See KPMG Example 13 on Page 271.]

b.  Yes as long as GM faces no translation gains and losses on its net investment.

c.  Yes whether the functional currency is the U.S. dollar or the Swedish crone.

d.  No because GM owns more than 20% of the Swedish company.

82. (03 Points)  UsAtHome Company has a variable interest rate note receivable denominated in Greek drachmas.  The company enters into a foreign currency interest rate swap that simultaneously hedges both interest rates risk and foreign currency risk.  Can such a cash flow swap under SFAS 133 rules?

a.  Yes, if the note is designated as held-to-maturity under SFAS 115.

b. Yes, if the note is designated as available for sale under SFAS 115.

c. Yes, if the note is designated as a trading security under SFAS 115.

d.  None of the above.  
[XXXXX  See the definition of a “circus” in Bob Jensen’s SFAS 133 Glossary.  The primary objection is stated at the top of Paragraph 18 at the top of Page 10.  Also see Example 14 of KPMG beginning on Page 171.]
83. (03 Points)  HighWriter Company hedges forecasted inventory purchase in a foreign currency with a combination of a purchased call option and a put option.  Can such a combination of options qualify for as a cash flow hedge under SFAS 133?

a.  Yes if the premium is relatively low and at least one of the options is a written option by HighWriter.
[XXXXX Paragraph 28c on Page 19 of SFAS 133.  Also see KPMG Example 16 on Page 273.

b.  No if the premium is relatively low and at least one of the options is a written option by HighWriter.

c.  Yes if the premium is relatively low and none of the options is a written option by HighWriter.

d.  No unconditionally.
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